Business Location
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End of chapter exercises

1 Explain what the text means by the trade-
off ‘between rental cost and value’ on
page 100.

2 The text covers four important location
factors: proximity to customers, materials,
employees and competitors. Explain which
one you believe to be the most important of
the four in the case of locating:

(@) Anice cream parlour, with all ice cream
made on the premises.

(b) A new waste landfill site.

3 Explain in your own words why it might be
worth paying £1,010 per square foot to be
located in London’s Oxford Street.

4 Table 21.3 on page 103 shows that the high-
rent Arndale location yields more profit than
Oldham Street. But what if the annual sales
revenues at Oldham Street prove to be twice
as high as forecast? The effect on profit is
shown in Table 21.4.

Table 21.4 Revenues and costs at different
locations in Manchester

Arndale Oldham
Centre, Street,
Manchester Manchester
Annual sales £600,000 £600,000
revenue
Annualrenton | £102,000 £36,000
950 sq ft shop
Other fixed costs | £56,000 £44,000
Variable costs | £360,000 £360,000
Total costs £518,000 £440,000
Profit £82,000 £160,000

(a) Copy the figures for the Arndale Centre
and work out its profit if sales revenue
doubles to £1,200,000.

(b) Explain why the doubling of sales has
such a huge effect on profit at the
Arndale location.
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for 15 per cent

he effect on Inspired by the growth of craft beer sales, in 2012~ Farming Award for Best Drinks Producer. A
75 1050 ) : Ed Taylor and Robyn Simms started producing glance at their website (www.squarerootsoda. H
=ts to ot per cent? : and selling handmade soft drinks. Rhubarb soda co.uk) in August 2016 shows several items as :
: may not sound tempting to you, but farmers’ out-of-stock — and an advertisement for anew  :
: market shoppers were keen. Seeing a serious member of the production staff. Good signs that
_ : business opportunity, in 2013 Robyn gave up sales are going well. :
. : her salaried job to see where Square Root Tl 15 ke :
, the high 5 il @l i e (AremIEss wae faunt) in @ 1 Analyse the probable reasons why Robyn and i
: railway arch in Dalston - at the heart of trendy 2 :
can be located g % Ed located production in a railway arch in :
: East London. Nearby were important farmers D H
g p alston. (6) 2
: markets plus a series of independent pubs, bars :
or nota i and restaurants: just the places that want to 2 Ed and Robyn are getting concerned about H
1 factor such as : offer their customers something quirky and new. keeping up with demand. They see two options:

+ Option 1: Follow the example of big
competitor Fever-Tree and get an
established soft drinks producer to
manufacture Square Root sodas for them.

Ed and Robyn saw their target market as adults
who want a natural, tangy alternative to alcohol.
Both brought a fanatical approach to sourcing
ingredients direct from the farm (such as that

- : rhubarb, brought down from Yorkshire), which ¢ Option 2: Rent a second railway arch :
¢ helps in generating good publicity. It also helps and hire more staff to double the rate of :

: when everything is done by hand, including production.
teliiroremt 1 : hand-squeezing lemons for the lemonade. In Justify which one of these options they i
: : 2015, Square Root won the BBC's Food and should choose. 9}





